5 () y |
@ t @ Addition von Briichen ( gemischter Bruch )

Name: Datum: Ergebnis:
124 6L
59 9 6
| 3 5 3
41 = S+l
6 4 7 5
3 5 I 5
5 6 7 9
7 3 3 2
4= Z+12=
9 8 5 3
2 1 3 1
Z41-= Ty =
5 6 4 9
1 7 1 3
5 9 6 6
6 2 1 3
— 4+ = = — 4+ = =
9 8 8 7
1 1 4 2
—+1z= —+1-=
9 3 5 5
2 2 7 3
Zri= Z 1=
3 4 9 4
6 2 1 4
— 4+ = = — 4 - =
7 4 3 5
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@ (2) y
@ ‘. @ Addition von Briichen ( gemischter Bruch )

Name: Datum: Ergebnis:
2 4 83 38 6 1 11 5
12+-=2=12 —+lo=—=1>
5 9 45 45 9 6 6 6
1 3 23 11 5 3 46 11
1t == e
6 4 1 12 7 5 5 35
3 5 43 13 1 5 44
R =
5 6 3 30 7 9 3
7 3 83 11 3 2 34 4
SR i ZH1s=2=0—
9 8 7 72 5 3 1 15
2 1 47 17 3 1 31
—+l-=—=1-—= —+—-=—

5 6 3 30 4 9 3
1 7 44 I 3 2
= 4+ ==
5 9 45 6 6 3
6 2 11 I 3 31
-+ =" 4+ =
9 8 1 8 T 5
Lylon SRERRI
9 3 9 9 5 5 5 75
2 2 7 1 7 3 91 19
Syl 1= =2—
3 4 6 6 9 4 3 36
6 2 19 5 I 4 17 2
e e
7 4 1 14 3 5 1 15
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